TEEIEE BFE FEOH (REYRE) (FE) FERE

HiRES

ROEEELILTU,
(1) (—4)x 6 =—24

(2) 3x 21 =63

(3) (=0.5) x 10 =—5

(4) Ex2 =2

(5) (=0.2) x (—1.5) =0.3

(6) (=8)x (—9) =72

(7) (_2)XO =0

21 5 3
(8) 3l =—%
2 - _ 2
(9) ﬁx(_7) = 3
(10) (—4)x 6 =—24
o FHRERE

ROEEELIITU,

(1) (—4) x 9x (—4) =144

(2) ﬁ%x(—S)x (—05) = =
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TEEIEE BFE FEOH (REYRE) (BRE) FERE

HRTEs
ROEEELILTU,
(1) 98 ~14 =7

(2) (—28) ~+2 =—14

(3) (—=2.5) +0.5 =—5

4 16 _ 3

(4) 9 " 27 4

(5) (=5.6) + (—0.8)=7

(6) (=130) + (—2.5) =52

(7) 0+ (—9) =0

2,.12 _ 5
(8) 0_27)'715 ~ T 54

(9) %+(—14) =—%

(10) (—=38) +2 =—19
IO FHRSRE
ROFAEELIRTIU,

(1) (=99) +3 + (—11)=3

(2) %+ (—3) + (—05) =—3
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